Ethos Backrest Mount and Hardware

Ki, Mobility

N

Item Number Part Number  Description Quantity Retail
1a, 1b, 2, 3a,
4a, 5, 6, 93, Ethos Backrest Bracket Mount Kit, Black
9b, 10a, 10b, 109680 Anodized 1 $398.12
11-23a, 23b
This kit does not contain a release bar or release bar ends.
Select appropriate Backrest Release Bar Kit in addition to
this kit for a complete assembly.
1a, 1b, 2, 3b,
4p, 5, 6, 9a, Ethos Backrest Bracket Mount Kit, Color
9b, 10a, 10b, 109681__ _ Anodized 1 $422.42
11-23a, 23b
This kit does not contain a release bar or release bar ends.
Select appropriate Backrest Release Bar Kit in addition to
this kit for a complete assembly.
1a, 1b, 2, 3c,
4c, 5, 6, 9a, 9b, Ethos Transit Backrest Bracket Mount Kit, Black
10a, 10b, 11- | 109682 Anodized 1 $339.14
23a, 23b
This kit does not contain a release bar or release bar ends.
Select appropriate Backrest Release Bar Kit in addition to
this kit for a complete assembly.
la 000055 Saddle 1" 4 $1.55




Item Number  Part Number  Description Quantity Retail

If swing away arms are not present, use quantity 4. Use

guantity 2 if swing away arms are present.
1b 004117 Saddle M6 IDx1OD x .25 T 2 $0.46

If swing away arms are present, use quantity 2 of 000055

and quantity 2 of 004117
2 001762 Arc Adjustment Cam 2 $3.90
3a 003711 Back Bracket Right, Black Anodized 1 $55.69
3b 003711 Color Anodized Back Bracket, Right 1 $67.84
3c 109296 Back Bracket with Transit, Black, Rigid 1 $26.20
4a 003712 Back Bracket Left, Black Anodized 1 $55.69
4b 003712 Color Anodized Back Bracket, Left 1 $67.84
4c 109296 Back Bracket with Transit, Black, Rigid 1 $26.20
5 003713 Strike Hex 4 $5.15
6 003734 Pivot Assembly 2 $57.23
6, 21 108107 I(BPaXIIgt)ast Pivot Replacement Kit w/Instruction 1 $114.46
7a 003739 Backrest Release Bar 12" Wide, Black Anodized 1 $20.60
7b 003740 Backrest Release Bar 13" Wide, Black Anodized 1 $20.60
7c 003741 Backrest Release Bar 14" Wide, Black Anodized 1 $20.60
7d 003742 Backrest Release Bar 15" Wide, Black Anodized 1 $20.60
7e 003743 Backrest Release Bar 16" Wide, Black Anodized 1 $20.60
7f 003744 Backrest Release Bar 17" Wide, Black Anodized 1 $20.60
79 003745 Backrest Release Bar 18" Wide, Black Anodized 1 $20.60
7h 003746 Backrest Release Bar 19" Wide, Black Anodized 1 $20.60
7i 003747 Backrest Release Bar 20" Wide, Black Anodized 1 $20.60
7i 109642 Ethos Backrest Release Bar 12" Wide, Painted 1 $50.00
7k 109643 Ethos Backrest Release Bar 13" Wide, Painted 1 $50.00
71 109644 Ethos Backrest Release Bar 14" Wide, Painted 1 $50.00
m 109645 Ethos Backrest Release Bar 15" Wide, Painted 1 $50.00
7n 109646 Ethos Backrest Release Bar 16" Wide, Painted 1 $50.00
70 109647 _ Ethos Backrest Release Bar 17" Wide, Painted 1 $50.00




Iltem Number  Part Number  Description Quantity Retail
p 109648 Ethos Backrest Release Bar 18" Wide, Painted 1 $50.00
7q 109649 Ethos Backrest Release Bar 19" Wide, Painted 1 $50.00
Tr 109650 Ethos Backrest Release Bar 20" Wide, Painted 1 $50.00
oo | Rackestelase Bar K 12 Wide, Bk 1| s
G| i O N
e Jone  mopmiRREGIINRTE | 2 | e
we o et | 1 | s
to7ies | BackiestRelease Bar K, 16 Wide, ek 1| s
re fone  memiRRELGINmTE | 2 | s
0719 e e B e ey Bk i
T |G e N
to7ise | Rackestnelase Bar K 20 Wide, Back 1| s
109654____| Shos Backiest Reloase Bar K2 v 1 | s
t0osss____ | lhos Backiest Releace bar K g 1| s
10965s____| s Bkt e ey K 1 | s
s [aosss7___ | Elhos Backiest Rekease bar K e 1| s
10965____| Shon Backrest Rz By Ko g 1 | s
e e 1| s
109660__ __| Shos Backrest Refase Bar KT it 1 | s
Nl F 1| s
ol 8 e Eg}ﬁtseg E\i\?il:rrleBS;cherfsatslge?ge{slgtBZac:"I%lxgjse’ 1 RN
8 003750 Backrest Release Bar End 2 $2.86
9a 003846 M6 x 50 BHCS, Custom, Blk Zc 4 $14.33
Used if Swing Away Arms are not present
9 003232 M6 x 55 BHCS Blk Zc 4 $8.76
Used if Swing Away Arms are present
10a 003848 Back Bracket Saddle 1 1/8" 2 $1.06

Used if Swing Away Arms are not present




Item Number  Part Number  Description Quantity Retail
10b 004116 Saddle, Swing Away Arm, 1 1/8" Tube 2 $1.11
Used if Swing Away Arms are present
11 003849 Saddle For Dimple 1 1/8" 4 $0.43
12 100658 M6 Nylock Nut Blk Zn 4 $1.03
13 100746 M6 Flat Washer Blk Zn 4 $1.55
14 101593 M6 x 25 BTN SHCS BLKZC 2 $1.55
15 101835 M6 Lock Washer Blk Zn 4 $0.52
16 101853 M6 Washer Blk Zn 2 $0.52
17 102614 M5 Split Lock Washer BLK ZC 2 $0.52
18 102621 M5 x 8 BHCS BLK ZC 2 $0.52
19 103022 M5 Washer, Blk Zn 2 $0.52
20 103227 M6 x 30 Long Shoulder BHCS BZ 2 $4.12
21 103279 #8-16 Tri-Lobular Plastic Screw BZ 2 $0.52
22 103283 M5 Top Lock Nut BZ 2 $0.52
23a 103284 M6 x 35 Shoulder Bolt BZ 2 $4.64
Used if Swing Away Arms are not present
23b 103397 M6 x 40 Shoulder Screw BLK ZC 2 $2.50

Used if Swing Away Arms are present




Matte Finish Gloss Finish
Code Color Name Code Color Name
CGM Charcoal Gray BLK Black
EGM Emerald Green BLU Blue
GGM Graphite Gray+ SKY Blue Skies
IBM Iridescent Burgundy BRO Bright Orange+
INM Iridescent Navy PNK Bubblegum Pink
AGM Military Green=+ BUR Burgundy*
RRM Retro Red CBL Candy Blue
RBM Royal Blue PUR Candy Purple
SBM Shadow Black RED Candy Red
SWM Smooth White COoP Copper
DPR Deep Purple*
EBL Electric Blue*
GRN Forest Green*
FUS Fuchsia*
GSM Granny Smith
MTF Metallic Fuchsia
MOR Metallic Orange
* Discontinued Color ORG Orange*
** Formerly called Army Green SAP Sapphire*
SIL Silver
TEA Teal
YLW Yellow
FLM Graphic Image Transfer

2/17/2020




Color Anodizing Samples

Pewter




